Multiplikation von Briichen ( richtiger Bruch ) (
unechter Bruch )
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X
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Datum: Ergebnis:
4 7
— X — =
7 9
6 7
— X — =
9 2
6 3
— X — =
8 9
77
— X — =
5 8
5 5
— X - =
2 8
5 1
— X - =
6 7
3 5
— X — =
8 9
7 3
— X — =
9 6
1 3
— X — =
5 9
1 5
— X — =
9 9
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Multiplikation von Briichen ( richtiger Bruch ) (
unechter Bruch )

Name: Datum: Ergebnis:
5 1 5 4 7 4

- X - = — - X — = —

8 6 48 7 9 9

5 3 5 6 7 7 1
- X — = — — X == — =)
7 6 14 9 2 3 3
3 3 9 1 6 3 1

— X —= — =) — X — = —

2 2 4 4 8 9 4

I 2 1 7 7 49 9
— X - = _X_:_—:l—
4 7 14 5 8 40 40
2 3 3 5 5 25 9
— X — = — _X_:_:l_
7 2 7 2 8 16 16
7 7 49 9 5 1 5
_x_:_:2_ - X - =

4 5 20 20 6 7 42

3 6 2 3 5 5

— X — = — - X — = —

9 9 9 8 9 24

3 6 9 7 3 7

- X — = — - X — = —

7 4 14 9 6 18

5 3 15 1 1 3 1

— X == — =]— - X — = —

7 2 14 14 5 9 15

5 5 25 1 I 5 5

— X —= — =D — - X - = —

4 3 12 12 9 9 &l
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